Reg. No.

Half—yearlv Common Exam., December -2017
XI- Standard] PHYSICS [Time : 2.30 Hrs

(Maximum Marks : 70)

Section-A

Answer all the questions, Choose and write the correct answer :- 15%x1=15
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The range of strong nuclear force is about
@ 10"m b 10%m ) 10"m ) 10°m
The triple point temperature of water is
@ 273.16K b) -273.16 K c) 273K d) 273°C
The range of a projectile is maximum when the angle of projection is ------- .
a) 60° b) 35° ¢)90° @ 45°
The algebraic sum of the moments about any point must be equal to -------
a) unity (BYzero ) maximum  d)alwaysone
In neutral equilibrium, ------- energy does not change.
a) kinetic () potential  c)both d) heat
Work done by the couple, W= ---------- -
/6@ 0r c)o/r D)o
Which of the following objects do not belong to the solar system * ?
a) Comets @ Nebulae c)Asteroids  d) Planets
Theweight of abody at Earth’s surface is W. At a depth half way to the centre of
the Earth, it will be
aw ®wri2 owia dwis
Two wires of the same radii and material have their lengths in the ratio 1 : 2. If
these are stretched by the same force, the strains produced in the two wires will
be inthe ratio '
a)l:4b)1:2¢)2:1@1:1
An object entering Earth’s atmosphere at a high velocity catches fire due to
(@) viscosity ofair  b) heat content of atmosphere  ¢) pressure of certain gases

d) high force of g
The time period of a simple pendulum is 1ndependent of the ------- and material

ofthebob a)time period b) frequency c) velocity (d)mass
Electromagnetic oscillations in tank circuit is an example for ------- oscillations
a) free  b)forced  c) maintained (@ damped

Sound of frequency 256 Hz passes through a medium. The maximum displacement
is0.1 m. The maximum veIocity isequalto

a) 60z ms™ (® 512zms™ ¢) 256 ms™ d) 512ms™

Which of the following does not affect the velocity of sound ?

a) temperature of the gas @ pressure of the gas  ¢) mass of the gas

d) specific heat capacities of the gas

A block of ice in a room at normal temperature

a) does not radiate (B) radiates less but absorbs more

c) radiates more than it absorbs  d) radiates as mch as it absorbs
| [P.T.O.
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1% Desw Ferm s Dlack oy

T Sound wyweis faster on rwny days. Why ?
i Do e persd
19 How do meecs nan on e surface of water ?
b Sexge Kepier”s first law of planetary motion.
I Goveasy rwoccxmples for vector guantity
22 Stame Nowton s Shand brws of moton.
3 A oot s able w0 bend on @y foet affer 2 fail Which principle of physics is being

e’ Exphas

4 Wit n meant by light year ?
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Part - I
Losmer 2oy § guestions m which question No. 33 is compulsory 6x3=18
Grve anmy Sree postsiaces of inetic theon of gases. :
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Wt are deprees of Sreedom ?

Wt s meeant by end correcton ?

Otean an equaton for the SéM of 2 parucie whose ampintude 1s 0.05 mand
Sogaracy 25 Hz The mtial phasets W7/ 3

Seduce the exprassion for the tme perod. (or)

Sazoe anad prowe paraliel mtbammipa-mdzcuiaraxesﬁmm
Se wmmd prose Bernowl's theorer. (oc)

(o e radies and conventions followed while writing STunits.

P Dicirrmmme the velocity fior ar flowing through a tube of | (% e radius. For
o=13kgm” md g=187=x10" Nsm™.

0 Stz the warversal bew of graviioon.

31 W'har a0e e @fevent types of equultheium ?

32 Wt are e bmimaoes of Emensiona! amalvais ?

33 Two egual forces are actng a2 2 pomnt with an angle of ¢0° between them i
e resuitans foece s egmd to 20,3V, find the magnituded of each force.

Pat- IV 3% 3=25
Aoz 3l by guesyors

s Dexive Mever's relation. (ot
Stze o prove bw of comservation of near momennm.

33 Describe the woriony of mﬁmmmmtmgﬁxm-\ (or)
Saane amd expiziz peralieiogram law of vectors.

3. Desrve Newton - Lapiace formula for the velocity of sound in gases {ar)
W't s escape speed 7 Oboan an expression for it

35 Show dmfe oscilations of 3 simple pendulum are simple harmonic. Hence



